lim [x]
Xx—>0

limitinin degeri kagtir?

A) —1 B) 0 C) 1 D) 2 E) Yoktur

lim [Jih 2]

x—0- | X

limitinin degeri kagtir?

A) =2 B) —1 C)0 D) 1 E) 2

lim (H+x—‘l)

x—>2 | X—=2

limitinin degeri kagtir?

A) =2 B) -1 C)0 D) 1 E) Yoktur.

x—>3 X=3

limitinin degeri asagidakilerden hangisidir?

A) =1 B)O C) 1 D) 2 E) Yoktur.

lim =x

xs2 1+X

limitinin degeri kagtir?

A) B) C)0 D) —

1 1
3 2

Ixl
lim 2~
x— 0"

limitinin degeri kagtir?

A) =2 B) —1 C) = D) 2 E) 4

Cevaplar :



1)B, 2)D, 3)E, 4)A, 5D, 6)A,



